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3.6.11

73a (n nxwn) 2 74b (071 7175)

Note: nypw *7's opinion, which we’ve already encountered, is that all m1,m9977 11730 are one w7 and one may carry from one
to the other and within each (ahead N:V) but only those items that were there when naw began. Our passage tangentially addresses
the breadth of ;wvpw *7's rule — does it apply even when the courtyard is now joined to the attendant house via an nr3¥n 2171797

L. 'n mwn(defining relationship between n”y and n"v): several mAxn open to each other and to nan
a.lf: they were only 17yn the mxn together — may only carry through mnxn, not in nan
b. And if: they only made a 9\n>w in nan —all is permitted
c.If: they did both and:
i. One: of the 7¥n "1 forgot to participate — all are permitted in both
ii. But if one: of the nan »a forgot to participate — they are only permitted in the mx¥n
II. Analyses of the mwn
a.Authorship: must be n”, who requires both 211°» and 91w (as per above, :RY)
i. Challenge: in 2" clause, 9w covers all
1.Answer: read “if they also made qgnw”
ii. Challenge: in case of forgetting, he allows m¥n —
1.If: there was 91073, why not allow same in »an; if no 993, why allow it in 7¥n?
a) Proposal: n” doesn’t allow for mwi w1 in a nan
b) Rejected: n" gives example of someone being Y0an their mw in a nan
iii. answer: there was no Y101 in either case, he permits in case of maxn
1.reasoning: he requires 9nv DIpN1 211Y to ensure that 21719» NN won’t be forgotten — here, they made 211y
b. 27s read: ¥5==p3mms - the multiple courtyards in our mwn are not accessible to each other except through the »an
i. Rationale (»228): 27 holds that 91w only works if it comes through doorways to »an
1.Challenge: mwn ruled that if 2”nya is partner with a neighbor in wine, no need for vy
a) Answer: they moved the barrel through both maxn, out to "1an and back
2.Challenge: y:1 pP2y1Y — method of 1w involves a barrel in one’s 1xn
a) Answer: as above - they moved it out and through »nan and back
3.Challenge: 17's ruling that if people are eating together in 7¥n and it becomes naw, bread becomes qn>w
ii. Rather: 21 holds that a »an is only reparable if it has multiple entrances of n’nay m¥n
1.And: If other m¥n access the exit through neighboring courtyards, there is only 1 “a¥n” here.
III.Revisiting 27's ruling: 12)0% ©MNa DN NN W 2"RR P92 I Nann PR
a.s81p¥. even one house and one courtyard
b. 17 71 even an abandoned lot
i. Question (»ax): did 13nv "1 even permit a vineyard-path?
ii. Answer (901 27): must be habitable — like a namn (not a N3 Hv V)
iii. Note (82221 72 X277 79): 13V "1 is consistent, as he followed w™ (see note) even when 1171’» has joined maxm o’na
1.Background: 21 ruled like w™, but only if there was no 237» made (else, they may carry from o’na to 73n)
a) jpnr n Snmww. ruled like w™ even if 217°Y was made — no concern of carrying from wna to maxn etc.
2.Similarly here: > is not concerned that he will carry in namn, even though we’ve used it to allow use of nan
IV. Revisiting Y8mnw’s ruling — even one house and one 7¥n permit a nan
a.Challenge (2723 72 8”1 to Sxw): YRnW had stated that we carefully follow the wording of the mwn:
i. mwpo »an to mxn:xn to houses (implying multiple mAxn)
b. Question: did Y%mv accept the challenge and retract his ruling?
i. Answer: YR1nw permitted »an with a sole resident
1.Then: after S®1nw died, 11v "1 destroyed the %
ii. Block: 981w may have accepted the critique
1.In this case: there was a teacher who ate elsewhere but slept in this »an (i.e. multiple residents)
2.Even though: the resident held like 29, that o7 ®mva Dpn (>he thought Y®nY’s permission was for 1 house)
a) Nonetheless: Yxmw holds that o1 nrY mpn > considered multiple residents
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